Republic of the Philippines

CEBU NORMAL UNIVERSITY

Osmeña Blvd. Cebu City, 6000 Philippines



Office of the Bids and Awards Committee

Telephone No.: (+63 32) 254 1452 local 141 or 125

Email: <u>cnubacsed@gmail.com</u> Website: <u>www.cnu.edu.ph</u>

Invitation to Bid for

Procurement of Supply and Delivery of Various Medicines for CNU Main, Balamban and Medellin Clinic No. 24-02-051

- 1. The Cebu Normal University, through the General Appropriations Act (GAA) of 2024 and Special Trust Fund (STF), intends to apply the sum of Six Hundred Sixteen Thousand Four Hundred Sixty Seven Pesos and Fifty Centavos (P 616,467.50) being the ABC under the contract for Procurement of Supply and Delivery of Various Medicines for CNU Main, Balamban and Medellin Clinic with Bid No. 24-02-051. Bids received in excess of the ABC shall be automatically rejected at bid opening.
- 2. The Cebu Normal University now invites bids for this Procurement Project:

Lot	Item / Service Type and nature of each item/service	Cost per item or service	Maximum Quantity	Total Cost per Item
1	Acetylcysteine 600 mg effervescent tab	₱ 43.75	30	₱ 1,312.50
	Amlodipine besilate 5 mg. tab	₱ 19.90	300	₱ 5,970.00
	Amlodipine besilate 10 mg tab	₱ 26.00	300	₱ 7,800.00
	Bacillus clausii nebule 5ml	₱ 48.00	1200	₱ 57,600.00
	Benzydamine HCL lozenges (Eucalyptus or Menthol or Orange flavor)	₱ 37.50	200	₱ 7,500.00
	Budesonide(160mcg+ Formoterol fumarate dihydrate(4.5mcg) 60 actuations	₱ 1,570.00	6	₱ 9,420.00
	Carbocisteine 500 mg cap	₱ 15.50	200	₱ 3,100.00
	Cetirizine HCL10 mg tab	₱ 35.00	800	₱ 28,000.00
	Cetirizine HCL syrup 1mg/ml 60 ml/ bot	₱ 350.00	5	₱ 1,750.00
	Dichlorobenzyl Alcohol, Amylmetacresol Lozenge (assorted Flavors)	₱ 77.00	50	₱ 3,850.00
	Ebastine10 mg/ Betamethasone 500 mcg film coated tab	₱ 44.00	100	₱ 4,400.00
	Metformin HCL 500 mg. film coated	₱ 12.00	100	₱ 1,200.00

tab			
Gentian Root(69mg), Primula Flower w/Calyx(207 mg), Common Sorrel Herb(207mg), Elder Flowers(207mg), Verbena Herb(207mg) tab	₱ 16.75	600	₱ 10,050.00
Ipratropium bromide 500 mcg+ Salbutamol 2.5 mg Nebule	₱ 67.00	80	₱ 5,360.00
Levocetirizine hydrochloride 5 mg + montelukast sodium 10 mg	₱ 36.00	400	₱ 14,400.00
Loratadine 10 mg tab	₱ 41.00	60	₱ 2,460.00
Losartan K 50 mg tab	₱ 30.00	300	₱ 9,000.00
Mefenamic acid 500 mg film coated tab	₱ 37.00	1000	₱ 37,000.00
Metronidazole 500 mg white oblong tab	₱ 39.00	60	₱ 2,340.00
Metoprolol Tartrate 50 mg tab	₱ 10.00	100	₱ 1,000.00
Omeprazole 20 mg tab	₱ 43.00	250	₱ 10,750.00
Oral Rehydration Salts NaCl 520 mg+Trisodium citrate dihydrate 580mg+KCl 300mg+anhydrous glucose 2.7g (granules for oral solution) sachet 4.1g X 100 sachet - 1 box	₱ 2,100.00	4	₱ 8,400.00
Paracetamol 500 mg+vitamin B1 50 mg+vitamin B6 100 mg+ vitamin B12 100mcg tab	₱ 31.00	200	₱ 6,200.00
Paracetamol 250 mg/5 ml forte syrup 120 ml /bot (orange)	₱ 300.00	5	₱ 1,500.00
Paracetamol 500 mg. tab	₱ 9.25	700	₱ 6,475.00
Phenylephrine HCL, Brompheniramine Maleate Syrup 5 mg/ 60 ml/bot	₱ 210.00	5	₱ 1,050.00
Phenylephrine HCL 10mg+Paracetamol 500 mg tab	₱ 12.00	400	₱ 4,800.00
Polyethylene Glycol 8000 0.5%+ Sodium Hyaluronate 0.15% Eye Drops 10 ml/ bot	₱ 480.00	8	₱ 3,840.00
Rosuvastatin Ca 10 mg tab	₱ 31.00	200	₱ 6,200.00
Salbutamol Sulfate 2 mg tab	₱ 15.00	1000	₱ 15,000.00
Salbutamol Sulfate syrup 2mg/5ml 60 ml/bot	₱ 160.00	5	₱ 800.00
Salbutamol Sulfate 2mg+carbocisteine 500 mg cap	₱ 17.75	150	₱ 2,662.50

		Total Cost	₱ 616,467.50
bicarbonate + phenol + lanolin + thymol + chlorothymol + glycerin ointment sachet 3.5 g	₱ 52.00	200	₱ 10,400.00
(164.5 mg) + menthol + Na	P 63 00	200	B 10 100 0
(200mg)+ Vitamin B12 (200mcg) tab Zinc Oxide (555.7mg) + Calamine	7 50.00	400	1 12,000.0
Vitamin B1 (100mg)+ Vitamin B6	₱ 30.00	400	₱ 12,000.0
Silver sulfadiazine (10mg micronized) cream 20 gms	₱ 900.00	4	₱ 3,600.0
Mupirocin Ointment 2%x5 g	₱ 370.00	10	₱ 3,700.0
Mupirocin Ointment 2%x15 g	₱ 950.00	8	₱ 7,600.0
Multivitamins + Minerals soft gel capsule containing Vit A 5000 IU, Vit E 100 IU, Vit C 500 mg, Zinc (sulfate) 25 mg	₱ 18.50	7000	₱ 129,500.0
Levofloxacin hemihydrate 500 mg	₱ 197.00	40	₱ 7,880.0
Ketoconazole Cream 2% x 5 gms/ tube	₱ 225.00	15	₱ 3,375.0
Ferrous gluconate(250mg)+Mn Sulfate (200mcg)+Cu Sulfate (200mcg)+Vitamin C (50mg)+Folic Acid (1mg)	₱ 34.00	600	₱ 20,400.0
Cloxacillin Na 500 mg cap	F 29.00	200	r 3,600.0
Clobetasol Propionate cream 500 mcg/g x 5grams/tube	₱ 410.00 ₱ 29.00	200	₱ 4,100.0 ₱ 5,800.0
Clindamycin HCL 300 mg cap	₱ 122.00	80	₱ 9,760.0
Cefuroxime Axetil 500 mg. cap	₱ 82.25		
Cefalexin Monohydrate 500 mg cap	₱ 55.00 ₱ 82.25	250	₱ 13,730.0 ₱ 20,562.5
Amoxicillin 500 mg cap	₱ 22.00	250	₱ 22,000.0 ₱ 13,750.0
Amoxicillin(500mg)+Clavulanic acid 125 mg cap	₱ 60.00	300 1000	₱ 18,000.0 ₱ 22,000.0
Aciclovir 50mg/g cream 2 grams	₱ 850.00	2	₱ 1,700.0
Aciclovir 400 mg tab	₱ 230.00	60	₱ 13,800.0
Tranexamic acid 500 mg	₱ 45.00	10	₱ 450.0
Tobramycin(3mg/ml) eye drop 5 ml/ bot	₱ 610.00	10	₱ 6,100.0
Telmisartan(40mg)+Amlodipine besilate(5mg) tablet	₱ 40.00	100	₱ 4,000.0
bicarbonate(267mg)+calcium carbonate(160mg)/10 ml oral suspension	₱ 42.00	400	₱ 16,800.0
Sodium alginate(500mg)+sodium	1	· · · ·]	

Delivery of the Goods is required at the time and date specified in the Call-off, which may be to single or multiple destinations or multiple performances at multiple locations. Bidders should have completed, within Two (2) Years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).

3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.

Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.

- 4. Prospective Bidders may obtain further information from Cebu Normal University and inspect the Bidding Documents at the address given below during office hours at 8:00 A.M. to 5:00 P.M.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on May 9, 2024 May 28, 2024 from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of One Thousand Pesos (P 1,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees if it will be presented in person, by facsimile, or through electronic means.
- 6. The Cebu Normal University will hold a Pre-Bid Conference on May 16, 2024, 1:30 P.M. at the BAC Office, Room 203 2nd Floor, Administration Building, Cebu Normal University, Osmeña Boulevard, Cebu City, which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission at the BAC Office, Room 203 2nd Floor Administration Building, Cebu Normal University, Osmeña Boulevard, Cebu City on or before 1:00 P.M. of May 28, 2024. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 14.
- 9. Bid opening shall be on May 28, 2024, 1:30 P.M. at the BAC Office, Room 203 2nd Floor, Administration Building, Cebu Normal University, Osmeña Boulevard, Cebu City. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The Cebu Normal University reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

For further information, please refer to: 11.

Ma. Jodelle C. Badilla BAC Secretariat Office Cebu Normal University Osmeña Boulevard, Cebu City 6000 Philippines cnubacsec@gmail.com (+63 32) 254 1452 local 141

You may visit the following websites: 12.

For downloading of Bidding Documents: www.philgeps.gov.ph

www.cnu.edu.ph

May 8, 2024

Dr. JOSEPH ELVIR C. TUBILAN

BAC Charperson